WEEK 1 LAB

MATH 131: Calculus II

January 23, 2020
Reviewing Calculus I Your Name (Print): _ANSWER WKeY

1. Evaluate the following integrals. Don’t forget your family!
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2. Salve the differential equation f(z) = 12023 — 42z, f(—1) = —5, f(2) = 136.
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4. (a) State the definition of an antiderivative. (You can look this up in your textbook if you don’t remember the
official definition.)
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(b) Find an antiderivative of f(z) = e —cosz + 3.
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(d) Find an antiderivative of g(x) = +sec? z.
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(e) Use your definition in part (a) to justify that your answer in part (d) is correct.
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5. A sprinter in a 100m race explodes off the starting block with an acceleration of 5m/s® which she sustains for the

first 2 seconds. Her acceleration then drops to 0 for the remainder of the race. What is her time for the race? You
will have to divide the race into two segments.
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6. A toy bumper car is moving back and forth along a straight track. Its acceleration is a(t) = cost+sint. Find the
particular velocity and position functiens given that v(mr/4) = 0 and s(m) = 3.
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7. We will learn a technique of integration called u-substitution at the end of Chapter 5. Right now, however, it is
assumed that you do NOT know this method. Without using u-substitution, evaluate the following integrals and
then for each one write a short sentence explaining why you know your answer is correct using the definition of )
antiderivative.
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